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Questions

To Darwin we
natural history.

that has made the interrelations of organisms central in modern

In Europe, a definite system of locating the annual cuttings in the management
of communal and government forests because under this system the forests can be so
organized that an approximately equal yield is secured each year.

Not all currencies that are brokered on the world’s major stock exchanges
to generate windfall profits for the everyday investor.

enough

Although he had been an often decorated soldier during World War Il and had fought many
battles for the losing cause of liberalism in Congress.

Mother said, “You help me prepare dinner do your homework.”

“Could | come over at three four o'clock?” asked Joan

He wanted to join the navy his parents did not allow him to.

Bruno dislikes sitting on the beach; he always gets nasty sunburn

Pauline says there is nothing relaxing about chopping wood, swatting mosquitoes, and
cooking over a woodstove.

I don't agree with you, but your idea certainly gives me food

Answers Choice

A. have owed the change
owe the change

owing the change
have owed the change

will have extensively used
has extensively used

is extensively used
extensively uses

of value

to be valuable
are valuable
valued
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A. Run-on: put a comma after World
War |l

B. There is nothing wrong with the
structure of this sentence

C. Fragment: put a comma after
Congress and finish the sentence
D. Run-on: put a semicolon after
World War Il

A. either...or
. neither...or
. both...and
. neither...and

. either...then
. either...or

. neither...or
. neither...nor
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A if

B. but

C. neither
D. either

A. Complex Sentence

B. Compound-Complex Sentence
C
D
A
B
C
D

. Compound Sentence
. Simple Sentence

. Compound Sentence

. Complex Sentence

. Simple Sentence

. Compound-Complex Sentence

A. for thinking
B. for consider
C. for thought
D. for fun



